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I. (10 pts) Find two angles, between —2x and 27 (i.e., 0" and 360") that are coterminal with -BTH. Give

exact answers in degrees and radians.
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2. {5 pts) Arc Length. Suppose we have a kid's wagon wheel of radiys =7 em. _How far does the wagon

wheel roll along the ground if it rotates thru an angle of 6000°? ﬁund to 3 decimal places.
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3. (5 pts) Find the exact area of the sector that is intercepted (swept through) by an angle of & = L ona

circle of radius r = 12 cm.
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b. (5 pts) Suppose that cos(@)>0. Find the other five trigonometric functions of @ .
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c. (5pts) Assuml‘ind @, inradians and degrees, rounded to 3 decimal places.
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d. (5 pts) Give all solutions to the equation csc(@)= -; , In degrees and radians, rounded to three (3)

decimal places.
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5. (10 pts) Sketch one period of the graphs of y = cos(x)and y =sec(x) on the same set of coordinate axes.

e &

gprocket, and the wheel of the f
yiches, respectively. A cyclist :
is pedaling at a rate of 1.4 revoluthons per second. Find the speed of the bicycle in

feet per second. Then convert that to miles per hour. Round final answers to 1

decimal pfice. -
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7. (10 pts) Sketchth:graphnff(.r]:lkn ;%Dr+;—g)+l’)? ;l; (X q_) ) @
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8. (10 pts) Write the cosine function that achieves its maximum height of y = 117 feet at time 1= 11 seconds

and its minimum height of y=3feet at+= 39 seconds. c
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9. (5 pts) Solve the triangle. That means, find all lengths and angles. Exact answers

required.
A= Lo’ 2z §V3
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10. Find the exact value of ...

a. .. (5pts) ‘““[ama'{m)]' - S"\- 6

>
12

| &

Pt Wl |

MY +§ = 16 9

m=i3

February 07, 2017

— :”'%Qb
S
2=3 'Ilﬂmllo

.3

b. ... (5 pts) arcqm[c T’r ] =arcs .:.' (’VL'-‘_)
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11.(5 pts) Draw the sketch and use it to find an algebraic expression that is equivalent to cos(arctan(2x))

Yyt !
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Bonus: Answer fwo of the following, for up fo 10 points:
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12. (5 pts) Sketch the picture(s) corresponding to the following information, if possible. If
it is not possible, briefly explain why.
a. cos(x)=0

-1
b. cos(x)=1

C. sin{.r]:
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13.(5 pts) Sketch the graph of one per?‘d of y=tan(x) (restricted to make it 1-to-1) and y =arctan(x) on the

same set of coordinate axes. | warfl to see the function and its inverse in the same picture. Label key points
as ordered pairs (ALWAYS). State the domain and range of the restricted sine function and its inverse.
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14. (5 pts) Sketch the graph of one period of y = cos(x) (restricted to make it 1-to-1) and y = arccos(x) on the

same set of coordinate axes. [ want to see the function and its inverse in the same picture. Label key points
as ordered pairs (ALWAYS). State the domain and range of the restricted cosine function and its inverse,
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15. Explain, in your own words, how to reason to the arc-length and area-of-a-sector formulas.
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